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Reading Comprehension Unit 1

Unit 7

o very satisfactory account of the mechanism that caused the formation of the ocean ba-

Text 1

sins has yet been given. The traditional view supposes that the upper layer of the earth
behaves as a liquid when it is subjected to small focus for long periods and that differences

in temperature under oceans and continents are sufficient to produce movements in the
upper layer of the earth with rising currents under the mid-ocean ridges and sinking currents under
the continents. Theoretically, these movements would carry the continental plates along as though
they were on a conveyor belt and would provide the forces needed to produce the split that occur a-
long the ridge. This view may be correct; it has the advantage that the currents are driven by tem-
perature differences that themselves depend on the position of the continents.

On the other hand, the theory is unconvincing because the movements do not normally occur a-
long lines, and it certainly does not occur along lines broken by frequent changes in direction, as the
ridge is. Also, it is difficult to see how the theory applies to the plate between the Mid-Atlantic
Ridge and the ridge in the Indian Ocean. This plate is growing on both sides, and since there is no in-
termediate trench, the two ridge must be moving apart. An alternative theory is that the sinking part
of the plate, which is denser than the hotter surroundings, pulls the rest of plate after it. Again it is
difficult to see how this applies to the ridge in the South Atlantic, where neither the African nor the
American plate has a sinking part.

Another possibility is that the sinking plate cools the neighboring mantle and produces motion
currents that move the plates. This last theory is attractive because it gives some hope of explaining
the neighboring mantle and produces motion currents that move the plates. This last theory is attrac-
tive also because it gives some hope of explaining the enclosed seas. These seas have a typical oceanic
floor, except that the floor is overlaid by several kilometers of sediment. Their floors have probably
been sinking for long periods. It seems possible that a sinking current of cooled material on the upper
side of the might be the cause of such deep basins, The enclosed seas are an important feature of the

earth’s surface and seriously require explanation.

1. Which of the following titles would best describe the content of the text?
[A] Several Theories of Ocean Basin Formation
[B] The Traditional View of the Oceans
[C] Motions and Ocean Currents
[ D] Temperature Differences among the Oceans
2. The author refers to a “conveyor belt” (Line 7,Para. 1) in order to .
[A] illustrate the effects of movements in the upper layer of the earth
£B] show how temperature differences depend on the positions of the continents
[ C] describe the complicated motions made possible by the ocean currents

[D] account for the rising currents under mid-ocean ridges
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3. According to the traditional view of the origin of the ocean basins, which of the following is sufficient

to move the continental plates?

[ A] Spreading of ocean trenches,

[B] Movements of mid-ocean ridges.

[C] Sinking of ocean basins.

[ D] Differences in temperature under oceans and continents.

4. Which of the following, if it could be demonstrated, would most support the traditional view of ocean
basin formation? ’
[A] The upper mantle of the earth behaves as a dense solid.

[B] Movements usually occur along lines.
[C] Sinking plates cool the surface of the earth.
(D] The rising motion currents keep exact pace with them.
$. Which of the following does the author seem to prefer?
[A] The traditional view of the origin of the ocean basin is thoroughly wrong.
[B] The temperature of the sinking plate is lower than its surrounding.
[C] That the earth behaves as a liquid result in many great oceans.
[D] Neither the African nor the American plate moves according to the alternative theory.

Text 2

eyond the direct financial impact, there are subtle and more serious burdens resulting
from the government’s rules and prohibitions. By the time the Clean Air Act is imple-
mented fully in 2005, its product will reduce the US’s gross domestic product by more
than three percent a year. That is just one regulatory program, albeit the largest,

Regulation reduces the degree of competition, flow of innovation, and production of new and
better products because so many government agencies have the power, which they frequently exer-
cise, to decide whether or not a company can enter an industry or a new product go on the market,
The biggest obstacles to developing a new biotechnology industry are not financial or technological,
they are regulatory.

The rising paperwork requirements of government agencies inevitably produce a lengthening reg-
ulatory lag. This delay often runs into years and is a costly drain on the productivity of private man-
agers as well as public officials. In 1980, a California land developer could obtain in 90 days what
then was called “zoning” for a residential development. Currently, the typical company in that state
receives an “entitlement to build” for one of its developments only after two years or more of inten-
sive work.

The benefits of regulation should not be overlooked, though. To the extent that society obtains
cleaner air. purer water, safer products, and healthier workplaces, these benefits are real. The mere
presence of a government agency does not guarantee that its worthy objectives will be achieved,
though. For example, a steel company was required to install special scrubbing equipment at one of
its plants in order to reduce the emission of visible iron oxide dust. The scrubber succeeds in captu-
ring 21. 2 pounds an hour of the pollutant. However, the scrubber in run by a large electric motor.
In producing the power for that motor, the utility spews out 23 pounds an hour of sulfur and nitrogen
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oxides and other gaseous pollutants. Thus, even though the company is meeting government regula-
tions on visible emissions, the air actually is 1. 8 pounds an hour dirtier because of the regulatory re-
quirement.

The question is not whether regulations produce any benefits, but whether they are worth the
costs, That, in turn, leads to consideration of opportunities for improvement.

How can the burdens of regulation be reduced? Start by questioning the traditional justification,
which is the notion of market failure. For a variety of reasons—ranging from the inadequacy of infor-
mation to the presence of major externalities—private markets are deemed not to work well enough.
(A typical externality occurs when a producer upstream discharges pollutants into a river, harming
the people who live downstream. ) There is, in contrast, the companion notion of government fail-
ure. the tendency for the notion of government failure, the tendency for the public sector to do more

harm than good when it intervenes in economic activity.

6. The first three paragraphs are intended to tell people .

[A] the Clean Air Act proves effective though costly

[B] the difficulties in developing biotechnology

[C] the inefficiency of government work

[DJ the drawbacks resulted from government’s rules and prohibitions
7. The example given by the author in the fourth paragraph .

[A] is intended to show whether regulations are worthy
[B] is used to prove the inefficiency of government agencies
[C] aims at disclosing the steel company’s evil action
[D] tells people the strengths and weaknesses of regulations
8. The last paragraph suggests that
[A] measures should be taken to reduce costs of regulation
[B] government agencies should think twice before they intervene in economic activity
[C] many companies go bankrupt owing to market failure
[ D] discharging pollutants into a river deserves public condemnation
9. We can infer the text the economists .
LA] think highly of regulation
[B] urge policymakers to continue their regulatory work
[C] urge policymakers to protect the consumer
[D] propose an immediate ban on regulation
10. According to the text, the Clean Air Act
{A] should be abolished
[B] cannot make the air clean at all
LC] has great potential impact
[D] is strongly opposed by industrial sectors
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Text 3

ne of the earliest changes experienced by newly modernizing countries is the reduction of
infectious disease through the diffusion of public health technology. Public health tech-
nology lowers the death rate, especially among infants and children, causing rapid popu-
lation growth. Since most of the people of less developed nations live in rural areas that

cannot absorb the increased population, unemployment presses people off the land. They tend to mi-
grate into urban areas where newly developing industry and commerce and modern consumer goods
and services offer hope for employment and a better life. Unfortunately, the opportunities are more
apparent than real; and often the transition is more painful than pleasant.

In the course of the transition from agrarian life to modern urban living, the family undergoes
major changes in function, structure, relations, and style. Functionally, the family changes from a
production unit to a consumption unit. No longer is there need for a large multi-worker household to
operate the family’s farm interests, and the extended family household changes to the one containing
only a core nuclear family. In the city children become economic liabilities rather than economic as-
sets, and eventually families have fewer of them. Wives lose their functions as producers and main-
tainers of the labor force and become free to pursue extra household activities.

The modern economy forces work outside the home away from kinfolk. Not only the father but
also the mother is forced into the marketplace or factory to obtain enough money for the family to
survive in a pecuniary economy. Without the extended family household, no one remains at home to
supervise children, so they are left on their own. They may be sent into the streets to earn money.
Daily life becomes filled with more secondary than primary relations. There is an erosion of family
control over individual members.

Scarce urban housing forces overcrowding in both dwelling and neighborhood. Dense structures
with common halls, stairways, and utilities cause more intensive contact with neighbors than in rural
villages. Loss of rural courtyards, oven rooms, and large family areas drives group activities such as
cooking, eating, and sitting into small rooms or city streets. More positively, household furnishings
change as families are able to acquire the high-status accoutrements of modern living such as kerosene

burners for cooking (replacing dung cakes) and beds (instead of mats).

11. Which of the following is NOT true according to the passage?
LA] The spread of public health technology reduced infectious disease.
[B] The reduction of infectious disease lowered the birthrate.
[CJ The lower death rate encouraged the population to grow faster.
[D] The larger population created greater employment pressure,
12. By “wives lose their functions as producers and maintainers of the labor force”, the author means
that .
[A] many women are no longer able to join the labor force

[B] many women become too weak to work
[C] many women refuse to have children
[D] the major job for women is no longer to give birth to and bring up children
13. The first sentence of Paragraph 3, “The modern economy forces work outside the home away from
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kinfolk” means that .

[A] the forces of modern economy operate beyond the influence of the family

[B] the forces of modern economy are going out of the family

[CJ modern economy forces work to go out of the family

[ D] modern economy forces work which is outside the home to move away from family members
14. Which of the following statements is true according to the passage?

[A] In today’s city life, nobody is willing to stay home to supervise children.

[B] Today’s city family has very weak control over its members.

[C] Extended families from the countryside survive only in mutual activities.

[D] All immigrants from abroad need help from relatives to become independent.
15. According to the author, it is good that .

[A] neighbors in cities have more intensive contact with one another than rural people

[B] group activities such as cooking, eating, and sitting take place in small rooms or city streets

[C] families are able to acquire the high-status accoutrements of modern living

[D] there is a cultural lag in the US

Text 4

r Mitsuyasu Ota, the Mayor of Hirate, in western Japan, made this week’s news col-
umns after imposing a one-day-a-week ban on the use of computer equipment in the
town’s municipal offices. The step was taken on the grounds that young staff “mistaken-
ly think they are working” when sitting raptly at their computer screens. At the same
time, Mr Ota lamented that “young people are not in the habit of writing by hand any more”.

One of the favourite arguments brought out by the opposition in technology wars is the notion
that a technical short cut is simultaneously a kind of mental impoverishment, and that the man with
the pen will think and write more effectively than the man with the Compagq.

Leaving aside the question of whether advanced technology makes you think less dynamically,
the idea that there should be recognisable stylistic discrepancies between the work of pen-pushers and
key-tappers shouldn’t in the least surprise us. Historically, literary styles have always borne a
strong relationship to the available technology. The quill pen, most obviously, allowed its owner on-
ly a certain number of words between refills, thereby encouraging all those lengthy Gibbonian sen-
tences bristling with subordinate clauses. The fountain pen—which allowed you to write as many
words as you wanted-—and the manual typewriter wrought further revolutions. It is not particularly
far-fetched, for example, to suggest that the staccato, elliptical prose of early-20th-century Modern-
ist masters such as Hemingway derives in part from its having been typed, rather than written down.

But what about the computer screen? What effect does that have on the elemental patterns by
which the writer downloads the words in his or her head? Without wanting to sound like Mayor Ota.
I suspect that to a certain kind of writer it is as much a hindrance as a help. A single glance at the av-
erage bookshop will demonstrate that novels are getting longer. There are excellent aesthetic reasons
for that, of course, but there is also a technical explanation. Which is to say that computers allow
you to write more words and to write them more quickly, without the restraint of having to alter eve-
rything by hand and then rewrite,
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Every so often. as a reviewer, one stumbles with a sinking heart across one of these enormous
rambling affairs, which, however assiduous the attentions of its editor, betrays its origin as a screen-
abetted mental show-off. Perhaps, like the municipal employees of Mayor Ota’s Hirate, we should

all try banning computers one day a week.

16. The author’s attitude towards Mayor Ota’s one one-day-a-week ban on computer use is one of

[A] acknowledgement [B] opposition

[C] neutrality [ D] enthusiasm
17. Which of the following statements does the author support?

[A] Frequent use of computer leads to mental impoverishment.

[B] Computer users think less effectively than pen users.

[C] There are stylistic differences between pen and computer users.

[D] Frequent computer users have trouble concentrating on what they do.
18. The availability of ever improved writing instrument

[A] makes sentences lengthier and lengthier

[B] renders prose pleasanter to read

[C] gives a writer more freedom in expression

[D] makes writing shorter and more compact
19. In what way is the computer a hindrance to a writer?

[A] A writer may run his writing long just for a mental show-off.

[B] A writer is less willing to rewrite his novel to make it better.

[C] Ideas are put into words before they are made clearer in the mind.

[D] The computer allows a writer to write quickly without careful choice of words.
20. The word “assiduous” in the last paragraph probably means

[A] cautious [B] intentional

[C] conscious [D] purposeless

Text 7

}1 A b 71

focus n. {FahHL> conveyor n. &%k ridge n. LI, Lk
trench n. 74, mantle n. &Y sediment n. JLIEY) . TR

‘w‘. MEAy 53 BF

1. The traditional view supposes that the upper layer of the earth behaves as a liquid when it is sub-
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jected to small focus for long periods and that differences in temperatyige {pde aps and conti-
nents are sufficient to produce movements in the upper layer of the earth with Tising currents un-
der the mid-ocean ridges and sinking currents under the continents.

| BEEX | ERMAINN, Y75 L B ] 4 F H FEIE 30 OB, BR800 R 4k — g

T B 52 T FiE 2 R LB S S T B L FFORRE T 893 T e AT &

itk ZEiEs, )

| ¥ | AR FENESH. 4 K4“The traditional view supposes”, J5 & - 35 &9
FE15 M H]“that the upper layer. .. and that differences. ..”, B— A RiEMNAPF X EHE — itE
1RiB M H]“when it is subjected to small focus for long periods”, & -/ EiEMNAPEEHE—IHE
HIAE R E 1B produce movements. . . "EFRIERRIE.

BRI RE | tBEMENTFHE 14 45 ¥ 4 “ The traditional view supposes that... and
that...”,

2. On the other hand, the theory is unconvincing because the movements do not normally occur along
lines, and it certainly does not occur along lines broken by frequent changes in direction, as the
ridge is.
| BERXN B—FE, ZHE X UWR, BYEHEEHFFGERE 4, AR L i F
LR HRE T P RTAIEL , L an L SR R,

I BB || A A and” EEMH T B—HP A “because”3| BHIBRERIBEMA].
| RIGRIR | X RIUE A TR “the theory is unconvincing. . . and it certainly does

not oceur. .. ”,

L AmRIER

J—_
BT

AX 2 RRE MR H R AT G UANE RS,

B — B AR G E T iR B R B 8 B AL AR 3
FoBHRERAEGRRLIEB A TRREAE G BRNY S —2ib— R
FEBATHEREDABGE =N BE,

(A EEE. AX=BAIERETFERAMBBY=AEL, HkE[Al (B].[C].[D]#&
K= PRI,

2. [A] AHHE, F—BRE_MEERRMT LRiED, BIRE NS =P AR g X s

3. #aElAD, '

3. [D] ¥, RE—BE_H. % =4]"... differences in temperature under oceans and conti-

nents are sufficient to produce movements. .. Theoretically, these movements would carry

the continental plates along. .. it , A EEF H[D] R FHER.

4. [B] ITE. HMIBE BB MEHANEEMA IR AN AR, FERE N the movements
do not normally occur along linesGE BN # H AR E R4, MRRERRIEERL 4

o
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5. [B] 4H¥ ., MBS —BF%4E /) “An alternative theory is that the sinking part of the plate,
which is denser than the hotter surrounding, pulls the rest of plate after it”, hotter —ia] %
B, UL £ M A Y T R VR ARG e (BT [AD AREESE — B EEUHER A
BEA S, AR, [CIxhkiER. [D] XHRE “. .. neither the African nor the Ameri-
can plate has a sinking part. ” (L& BB —5) . FFARIZIH Frii i 836 P A0S P
WIRHIFE S .

Text 2

f} X bl TR

implement vt. SEJfh regulatory adj. V) albeit conj. &, BR
paperwork n. 3CH TAE lag n. #f5 drain n. fi¥E

zoning n. 41X entitlement n. W 15 HIFLF| install vz, %3

scrub ur. PR pollutant n. 7544 utility n. %%

spew out M sulfur n. Bk nitrogen n. &

oxide n. & AkYy emission n. HEY) justification n. ¥
presence n. JJi externality n. #M&HE deem vt. I\ K
discharge vt. B upstream adv. fE_E i companion adj. —XfH]

sector n. #f[7]

‘”i'.. X453 By

1. The rising paperwork requirements of government agencies inevitably produce a lengthening regu-

latory lag.

| B2F L || BUFERTEE SR ) SO ORI ZS , AN AT s G 3 B 181 425 A SE e KK AE3R
| ¥ F 47 | paperwork requirements /£ 1% , produce fEIH & .

| BTG A3k | regulatory lag RSB ATERIE TS HHIAS .

2. There is, in contrast, the companion notion of government failure, the tendency for the notion of
government failure, the tendency for the public sector to do more harm than good when it inter-
venes In economic activity.

| B2iF || HEZT . BURFRHKIREZREN N T : — N BEBUN A 7 R IR e, 55—
SEBURF T 2 5 1 B By S i 38 KT 1 06 1]

| %54 #) #7 | There is... the companion notion of government failure... & £ 4], B4 the
tendency f# the companion notion of government failure fJ[R]{i71& .

| FIG AR || ST, HEFE companion B EECAC AT,
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$ii—§-ﬁ%ﬁ’T&ﬂ?ﬁ%¥%’])ﬁ%%é‘J%iﬁfﬂ#%
BB BAGAFHEY EAR S IESRR R B
BB HAGATREAETA TEERLA,
FEZE RO AR EBOER NG AFRERE, X AR T A @A
FOBR BAOATHEFTRGFCETELR, ERRLHERXTH.,
BB BB T 2SR R AR K
6. (D] £ &M, “By the time the Clean Air Act is implemented fully in 2005, its impact will reduce
the US’s gross domestic product by more than three percent a year. ”; “Regulation reduces

the degree of competition, flow of innovation, and production of new and better prod-
ucts. .. ”;*“The rising paperwork requirements of government agencies inevitably produce a
lengthening regulatory lag. "X JLAJERR I T BT MM E I B H RO ARFZ 4. BIMBEST
B TRRBERND],

7. [A] WM. 55 O BXAT 35 Ut regulation 7R #Y benefits, # & 18 1t £ & 1§ F 3 15 90 K

drawbacks:“Thus, even though the company is meeting government regulations on visible e-
missions, the air actually is 1. 8 pounds an hour dirtier because of the requirement. 7, 13 883X
LRI . ZERESER D], (DA X8 B4, (8 4 B2 58 i AR 5B regulation
MIARFZAL 15 strength RRBUAH weakness,

9. [C] WM, XRXEELWR T BN T BATTH R 57U B0, S AR 25 K015
EMRRIPHBENA S (CERARRE RPN R .

10. [C]H#WE, XEF-BIEHZEHELSTRAERAEE R, K (CI“RAEANBEY

W R IE AR .
Text .3
e BlTERE
infectious adj. &4 diffusion n. {£3% dung n. FhiFeE
transition n. 3 agrarian adj. AV B, T HEEY liability n. 138, X &

asset n. W= kinfolk n. /8 pecuniary n. &8
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supervise Uts ﬂ?\fj‘k o erosion n. B3R dwelling n. B FF
o 1Y ;'%fu'#’k . %
utility n. FE accoutrement n. & . FE kerosene n. HEIH
e

m X 41 7 B

I. No longer is there need for a large multi-worker household to operate the family’s farm interests,
and the extended family household changes to the one containing only a core nuclear family.
| BEEX | BUAHTIRZHRFERPFARE T . KFREER 2 ok 88— %0 K
BE
| EEHIBIHMT | No longer BtA) & . Ea)FF%E . for a large multi-worker household A~ E 3 to
operate the family’s farm interests ()22 # 15 ; 7314715 containing only a core nuclear family fi
the one )5 BEH . nuclear family B HBOHKE, B R\ M — D FHBRMRE.
| BITRH | and BTG EZENERAIF AT
2. Wives lose their functions as producers and maintainers of the labor force and become free to pur-
sue extra household activities,
| BEEX | \ALIAERRRET RS BMER TR AT AR 5 25N iEE)
| Z5H3E M | 4] as producers and maintainers of the labor force f# functions B 5EiE .
TR | AR A PANEIE T H producers and maintainers B HE S {7,
3. Daily life becomes filled with more secondary than primary relations. There is an erosion of family
control over individual members.
I BEEX | AHAERIRWE T B MIEEAN AP LR, KR &R ST H 254
.
| MBI | %4 more A. .. than B... f9E B H 2 A fifAE B,
I BT R3% | control JFEAY over #1124 F of —id, FRxt-- (HIEER) ., TN TH Rk
K I . secondary relations #§ [F]2# | [A) 5 | [A) 17 % Il 2% 56 R LA AP #E S50 ABR X & 1fi primary
relations 5 2Z tHXF, fg MMM APR X .

1 BRIER
o IR A

AXZEZHTIRAFEARTOANERREN AELE 5@ T,
BB AR R ARG EBEERRBY BT REK A DREIEK, AT H 0 8AMN
B E AT T AL 6 AR R LAFARAT , iR BIR T A SRR,
FoB AR TRORRREAE EM AREE Z A S XTI RRE YA T BT 4K R
Flr AT AL — BT UM EEALH A ak A AT & R 5 Pk k.
FEBRRREMGINARAAERN ST Y ABTRTLUF UG T REEAERBAEHK
T AR ENG A FHEALT,
FOBRAREAFTETEZEHROBANENEGSBBIK S RATER AR REZ
# £ IARAL
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Y Y
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11. [B] #F5#, [B]#fY birthrate Bid 3 death rate AFER, RIEARCE B, AN fdt e
AR B AF AL Yok 2D FE TR FEAR . A PGSR A R 580, 7] WLAT[C].[ D& #F
AIRE. AWk B].

12. [D] EXE. AXHBT LG MR ERIR A QR 5T L Ll EEERRE
-G mAERRIA AT LR EREEZMNFRE. [AJ5EEHR. [B].[C]
TR

[BIERR A R SCF SR AR . RALDIFAE.

14. [B] 8o FAAEMESHESN  ANTRA B E R N E —ERBEET, EREANR
PBROXAE 248 B L ATHEAR s SR T P A9 AT B8 2 6035 B0 (B 3 3F R At (114 AR B M —
&M U CIHE R [DIFE P B4R . 45 = BB — 1)1 %) erosion, i erosion & 4 “ 45 .
@i, 5 weak HHIEE L. HME[B].
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Text 4

column n. £ impose vt. SN ban n. 2£4

municipal adj. TiIpH raptly adv. HEH lament vt. -+ S5
opposition n. Xif 37 MK &, short cut $#4% simultaneously adv. [@]8]#
impoverishment n. #% %5 dynamically adv. R % Hb recognizable adj. BE R
discrepancy n. 2§ quill n. PFE lengthy adj. U
fountain pen [ ¥K2% wring vt. 4,3 staccato adj. WEFERY
elliptical adj. 45 B&H hindrance n. PH§ aesthetic adj. FE4¥M)

assiduous adj. EFH/NOEY rambling adj. & T FRE
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L. One of the favorite arguments brought out by the opposition in technology wars is the notion that
a technical short cut is simultaneously a kind of mental impoverishment, and that the man with

the pen will think and write more effectively than the man with the Compagq.
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EREMNEEHA AR EIATTRE,
| ST || 47789 EF & One of the favorite arguments. . . is the notion. .. , arguments J& [H
& — 5B FIETA brought out by the opposition in technology wars, the notion 5 E# T
A FEALE A
| BITmik | REREATET . HBESBHRITZEHRXER.

2. Leaving aside the question of whether advanced technology makes you think less dynamically, the
idea that there should be recognisable stylistic discrepancies between the work of pen-pusher and

key-tappers shouldn’t in the least surprise us.

| %% | Eﬂﬁﬁflﬂ:Tﬂﬁﬁ’ﬁﬁﬁ?ﬁﬁﬁﬁﬁ'%ngﬁ?ﬁvg‘r*i(ﬁ‘ INHAES B ER AR
fH AR REERMS LB ERMREN Z L ZASIEARTFE.

| Z49#I4F || Leaving aside the question. .. B FEH RIE. the idea... shouldn’t in the least
surprise us A FHETF. of whether advanced technology makes you think less dynamically
question #J5 B FEi5. that there should be recognisable stylistic discrepancies between the work
of pen-pusher and key-tappers f§ the idea B[R} iE M A].

| ISR | RERBAFET, HRESBHRIZEBXR.

3. Every so often, as a reviewer, one stumbles with a sinking heart across one of these enormous
rambling affairs, which, however assiduous the attentions of its editor, betrays its origin as a
screen-a-betted mental show-off.
| BEFX | —ZWHELRBIXH-BEREREESEFHL . TICHREBSL2H L. HER
AHXRATTENE HRE A RS TR,
| &8 | 5] BYHEZR R one stumbles. .., which, however assiduous the attentions of its
editor, betrays its origin as a screen-abetted mental show-off f§ff affairs £ & M H].

| #IG R || RERBAFET FREEBHRISZEHLE.
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fEBEEE IR BT ERBEERBOHT,EAT YR IS THREZ EH
éﬁc

F—H . BAHFRALEEAT AN RAF B, Hirate TXAA AR A — X Eey
4,

BB X -AEARABRRERL TR, APMELLALRE SR EELE R,
BRER MEERH LS, LR PLE  ARRE TFNHRGBEERBHRE R ML K
M,

P . mit AR AT REAFTERE, LARAKFRGRA.
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